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[bookmark: _GoBack]Distance on the Coordinate Plane
How can you find the perimeter of a polygon on a coordinate plane?


	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	





How would you find the perimeter of a rectangle?
______________________________________________________________________________________________________________________________________________________________________

Vertices are ___________________________________________________________________
___________________________________________________________________________________

How do you find the perimeter of a polygon if you know the lengths of all its sides?
___________________________________________________________________________________
What are the two ways you could use to find the length of a line segment?
· Method One: ________________________________________________________________________________________________________________________________________________________
· Method Two:
________________________________________________________________________________________________________________________________________________________

Draw rectangle ABCD and find its perimeter if A (-1, 4), B (-4, 4), 
C (-4,-3), and D (-1,-3).

Find _____________________________________________________________________________

Use ______________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
The distance from A to B = ____________________________________________________
The distance from B to C = ____________________________________________________
The distance from C to D = ____________________________________________________
The distance from A to D = ____________________________________________________
Perimeter = ____________________________________________________________________






















